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When a country gets richer, cities often benefit more than the countryside. What

problems can this cause, and how can we solve them?
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As a country's economy grows, the disparity between urban and rural areas tends to
widen, with cities reaping more benefits compared to the countryside. This situation can
lead to various issues that need to be addressed. One problem is the increasing
rural-urban migration, as people flock to cities in search of better opportunities and
higher standards of living. This influx of people can put pressure on urban infrastructure,
leading to overcrowding, traffic congestion, and housing shortages. Moreover, the
exodus of young people from rural areas can result in a declining population and a lack

of skilled workers in the countryside.

To tackle these challenges, governments can implement policies to promote balanced
regional development. One possible solution is to invest in improving basic infrastructure
in rural areas, such as roads, schools, healthcare facilities, and internet connectivity. By
providing better amenities and services, rural areas can become more attractive places
to live and work, reducing the incentive for people to migrate to cities. In addition,
initiatives to create job opportunities and support small businesses in rural areas can

help boost local economies and stem the outflow of residents.

In conclusion, the unequal distribution of wealth between cities and the countryside can
lead to a range of problems, including rural depopulation and urban overcrowding.
However, by investing in rural development and creating opportunities for growth outside
of urban centers, governments can help bridge the gap and ensure a more balanced and

sustainable future for all citizens.
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Good expressions:
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2. rural-urban migration - =

3. infrastructure - J| Bt Al &
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4. overcrowding - 12

5. stem the outflow -
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